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Maths – answers – 22.5.20  
 

1. 45 r2 
2. Incorrect – The correct answer should be 229 r3. 108 = 9 × 12 and not 8 × 12. 
3. Long division. Answer: 166 boxes are needed for all packets of biscuits (165 r3)  
4. Long division. Answer: 121 full packets (121 r10 – the remainder of 10 would not 

make a full packet) 
5. Long multiplication. Answer: 3690 minutes 
6. Long multiplication. Answer: £202.23 (it’s really important that you acknowledged 

that we were dealing with money in this question) 
 
I hope you managed to have a go at the challenge and put someone in your family to the 
test!   
 
 

English 
 
There is no right or wrong answer – I would encourage you to read through your story 
and know that you’re happy with what you’ve included and satisfied that it is to the 
standard of a story you would produce in school. Please ensure basics such as capital 
letters and full stops are all correct and that your work makes sense. Check your work 
over with a grown-up, I’m sure they’ll be able to help spot anything that’s not quite right. 
I can’t wait to see what you’ve come up with!   
 

Foundations Subject – Art 
 
There is no right or wrong answer providing the facilities and things to do that you 
promoted were based in Durham – ha-ha!   
 
I bet you’ve come up with some fabulous and creative adverts and campaigns! I feel like a 
local study makes you appreciate what we have around us! Please share any of your work 
on our school Facebook page if possible. I would love to see it and I’ll make sure I 
personally comment back to your post! 
 

 


